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3.34 10 kVA 220 V f =50 Hz
cos ¢ =0.6 P=8kW
1
2 cose 0.6 0.95
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\Y Uy, < U Uo 1 2 CP
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13- 6 ADC

Qa Qe QcQp Qe =00100

3 CP Fo 1 F,
0 Uozl Fl
S; 0 Ry 1 Fi 0
Q,0Q:Qy=101 DAC u,=3.125V
Uy>U' Uo 0 3 CP
Qa Qs QcQp Qe =00010
4 CcP R- S
0 Q,Q1Qp =101 F,
Fi Fo
Qa Qg QcQp Qe = 00001 Qe=1 Fo Fi Fo
Q2Q: Q=101 U, 0
5 CP F,~ Fp
Qe=0 Ga Gg Gc
101 3.125V
0.005 V
13.2 8 ADC DAC
U,=6.25V ADC
ADC 8 DJ/A 1
0.039 0625V U,=6.25V
U
0.039 0625 ~ 100
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NEH AR DAERM ]
10100000
1.
8
2.
A/D
3.
ADC
A/D ADC0809
A/D CMOS 8 ADC
ADC0809 13- 8
o= ] CLK
IN,—8 —
1N;—>5i£ CTART ;s —1 28 F—IN,
INs ™ e I - EOC INs—12 27 —IN,
1N4—>§y‘ N INs 3 26 —1IN,
INs—{Jf - INg—4 25 |—ADD 4
INs—= % + BUEIE | —_» p IN;—5 24 —ADD B
IN;—> + || AR SAR| | L[ o START —6 2 23| —ADDC
I P EOC —{7 E  :mfALE
H Ust §ﬁ'_>D3 D;—8 E: 21 —g7
ADD A—{}f o p OE—{9 20 —D
B DAC %—»D; C[&K_i? }g S
—> ¥ ' ¢ — —— 14
ADDE E ar :: 36 UR('("() —12 17 —Dy
ADD C—{i% 7 GND —{13 16 —Ur(-)
] Ur(H) Ur() _L OF D, — 14 15 —D>
ALE _T
(a) (b)
13- 8 ADC0809
a b
ADC0809 8 A/D
INo~ IN; 8
ADDA ADDB ADDC 13- 1

Q=
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13- 1
ADD C ADD B ADD A
0 0 0 INg
0 0 IN,
0 1 0 IN,
0 1 1 INg
1 0 0 INg
1 0 1 INg
1 1 0 INg
1 1 1 IN,
ALE ALE=1 ADD A ADD B ADD
C
A/D
Ug + Ug. D/A
Do ~ D7
CLK
START A/D
A/D
. OF OF = \DD4.ADDB. ADDC X
EOC ALE [_l
START 1~8 START [
EOC EOC
EOC _—I_——_,——
D; ~ Dy {>__
OF .
Vee
GND 13- 9 ADQC0809
ADC0809 13- 9
13.1 4 T DAC Urer=5V Re=3 R ds ~ do
0101 0111 1011 1111 Uo
13.2 8 T DAC Uree =10V Rg=R d; ~ dg
11111111 10001001 00000001 Uo
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13.3 T DAC
n=10 UREF:']-OV RF:R
0110110111 Uy 13.4
4 T DAC 13- 10
Uo
13.5 4 ADC , . . .
Urer =5 V « = 3.46 E : | E
Y | | | i
0V 5.19V (LSB) Ao tdl 1112 rt;
o O 0 0
13.7 ADC 13- 11 ﬁ@%ﬁ% :
13- 10
FWHE REHE
UR Ux
o
Rﬁ 0 D,
FF;
7 —[Co
gUR > ° C; 50|~
—+ N Q
R S
U¢ —|Deo| ¢ FFs
8 R + 6 DQ _
gy
U -] ¢ FFs P
! S b ol &
I;] =R D
FF, _
4U“ —" LG — & J
s ’ _PQQJ
= FF; L:
,UR + C; DQT &
q] H TR
FF -
2 I 2
gUR > < C, DO L
—+ S 0 - 5
R — & o
1 Hl] -[E=| ¢ FF, o— |
g Us T T op—L
R L — obp G ae
thacds O rpme
43K g P
13- 11 13.7

ST A
(MSB)
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6 ) Ol—1p, B2

555 O p. DAC
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T Z2 UV Z

PNP
NPN
PNP
NPN

X XRCzZwnwrNOS=S< T

38(..03-<

f,.<3 MHz

f,=3 MHz

f,<3 MHz

f,=3 MHz

PIN

P.<1W

Pe<1W

Pe>1W

P.>1W

CD




~— B
A [uA /pF /
/mA v IV " P ns
2AP1 <16 <1 =40 20 <250 <1
2AP7 <16 <1 =150 100 <250 <1
2AP11 <25 <1 10 <250 <1
2AP17 <15 <1 100 <250 <1
2AK1 =150 <1 30 10 <3 <200
2AK5 =200 <0.9 60 40 <2 <150
2AK10 =10 <1 70 50 <2 <150
2AK14 =250 <0.7 70 50 <2 <150
2CK70A ~ E =10 <0.8 gajg 2228 <1.5 <3
= =
2CK71A~ E =20 <0.8 C/GO C/4O <1.5 <4
= =
2CK74A ~ E =100 <1 D/ 75 D/ 50 <4 <5
= =
2CK76A ~ E 2 1 - - 4
CK76 =200 < E= 90 E= 60 < <5
2CZ55A ~ X 1A <1 25V <10
2CZ57A ~ X 5A <0.8 3000V <20
2CZ58A ~ X 10A <0.8 %6 <30
2CZ59A ~ X 20A 0.8 40
<50 <50
A /mA /mA [pA 1Q /1074 -1 W
2CW51 2.5-3.5 10 71 <5 <60 >-9 0.25
2CW52 3.2~4.5 10 55 <2 <70 ~-8
2CW53 4~5.8 10 41 <1 <50 -6~4 0.25
2CW54 5.5~6.5 10 38 <0.5 <30 -3~5 0.25
2CW56 7-8.8 27 05 <15 <7
<VU.
2CW57 8.5~9.5 10 26 = <20 <8 0.25
2CW59 10~11.8 5 20 <0.5 <30 <9 0.25
2CwWe0 11.5~12.5 5 19 <0.5 <40 <9 0.25
2CwW103 4~5.8 50 165 <1 <20 -6~4 1
2CW110 11.5~12.5 20 76 <0.5 <20 <9 1
2CW113 16~ 19 10 52 <0.5 <40 <11 1

:




VD QTR HER d

3.
I cso l'ceo Hee/ B fr Cap l'em Pem Ugr
InA | TpA Fe IMHz | IpF /mA | /mW | CEO /V
3AX51A <12 <500 10~ 150 100 100 12
3BX81A <30 | <1000 40~ 270 200 200 10
3CX200B <0.5 <1 55 ~ 400 300 300 18
3AGKA <5 <300 30~ 200 =30 <5 30 100 15
3CG100B <0.1 | <0.1 =25 =100 <4.5 30 100
3DG120A <0.01| <0.01 =30 =150 <6 70 500 =30
3DK1A <5 30~ 200 =200 30 100 =15
3DK22B <0.5 25~ 180 =100 150 =20
2DK8A <5 <10 =20 =150 <10 600 500 =10
3AG61 <70 <500 40 ~ 300 =30 150 500 =20
3AD30A <500 12 ~ 100 4A 20W 12
3DD15A <1lmA|l <2mA =20 5A 50W =60
4.
Up C NFL
| R o U P
= v e I Rl T VAN I I PR
/mA 19 | gmlus IMHz | v /mwW
Ups= | Ups= Ups= | Ups=
10V | 10V | Ups=| 10V | 10V Ups=
UGS= |[) = ov ID = = 10 V
OV |50uA 3 mA (500 kHz
3DJ6D <0.35 =108 |>1000 <5 <5 =30
<|-9| >20 | >20 | 100 15
3DJBF 1~3.5 =10’ |[=6000 <8 <5 =90
3DJ2D <0.35
3DRF [1~3.5|<|-9| =10° |>2000 <3 | <5 | =300| >20 | >20 | 100 15
3DX2H 6~10




* B &3
S| ST | T TS | | s
IAY, 30~800 |{30~1200|30~1200|30~1200{30~1200| 30~1200
IAY 30~800 |{30~1200| 30~120 |20~1200|{30~1200| 30~1 200
/mA 1 1 1 1 4 4
/A 1 5 10 20
IAY <1.2 <1.2 <1.2 <1.2 <0.9 <0.8
/mA 3~30 5~70 5~ 100 5~100 | 10~250 | 10~ 250
1A% <2.5 <3.5 <3.5 <3.5 <4 <4
/ 100 100 100 100 100 150
/mA <30 <40 <60 <60 <80 <100
Ic? 350 1200 1200 |1100 2200
Q401E3 | Q403L3 BTA40B BTA12B
/A 1 3 40 Tc=75 12 T.=85
Uprm/V 400 400 600 600
/mA 10 10 <50123 <50123
/mA 15 15 <80 <80
IA 16.7 12.5 <300 <120
lus 3 3 2.5 2
Y 2 2 <1.5 <1.5




GB 3430—1989

< o m T H

e 288 Fewos=s =

TTL
HTL
ECL
CMOS

A/D
D/A

TTL

54/74x x x
54/74H x x x
54/74L x x x
54/74Sx x x
54/74LSx x x
54/74ASx x x

B54/74F x x x
CMOS

4000

54/74HCx x x
54/74HCT x x x

< T m - ® 0

0 ~70

-25 ~70
-2 -8
-40 ~85
-5 -85
-5 ~125

O I W T

O m O X 4 »n T o

SOIC
PCC
LCC




31 HES
8A 1
T (700N 2
35810
it 6\, o))
5 4
51
7 2 SR
8 1
14 13
b7

fafh 12

14 13 <=—
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EES T
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[TITTTL
1 7
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/v
[ pV| I nA
AV AV AV /mV| /nA| /nA| /dB| /dB|/MQ|/MHz /us . i
Rs=10 R =2R<10 R =2 kQ
kQ kQ | kQ C_ =100 pF
CF741M | <|+£22| | <|+30| | <|+15| | <5|<200<500 =94| =70|=0.3 0.5| 20 1
3~30 0~ V., <7 |<50|<250 =87| 70
CF324C V. ~V, 7 |0.01
+1.5~ +15 -1.5 V,=5V V. =0V
V, + <15(<0.03<0.05 =% | =70
5~16 1.5x
CF3130 <|+8|] |8~ V. - V,=7.5V |V,=15V 15 | 30
+2.5~+8 10°
0.5 V.=-7.5V | V.=0V
CF347C | <|+18| | <|+30| | <|+15| | <10/<0.1<0.2 >=87|=70, 10° | 4 | 13 | 10
CF318 | < | 20| <10(< 200 =80(=70| 3 15 | >50
CF253 | +3~+18| <|+30| | <|%15|| <5|<50|<100=90/=80| 6 1 3 <1
18
CF715M | < | +£18| <|+15| | <5|<250<750 =84|=74| 1 65 A=
U=
=100
<80 <|+40] | <5| <3|<20 R
CF143 | £4~ £40 ‘>80 1|25
U= %40 U,=%228V =100
kQ
<5 | <10/ <50 =94| =70 0.25/0.16
CF4250M | 1~ +18| < |+30| | < |+ 15|
Us= +15V 15 =10 pA
<5|5x
CF7650 | +3~ +8 <0.01>120>120 106 | 2 | 2.5
pV 10" 4
Tao=25 +15V




~— B &
2.
1 74L00 2
2 741902 2
3 74104
4 74L907 oC
5 741908 2
6 74LS10 3
7 74LS11 3
8 74LS12 3 oC
9 74LS14
10 7420
11 74221
12 7427 3
13 74LS30 8
14 74L.S32 2
15 T4LHA2 BCD - 10
16 74LH1 2 2 /12
17 74L 65 4- 4
18 74LS73 J- K
19 74LS74 D
20 74L.S76 J- K
21 74L.83 4
22 74L.85 4
23 7486 2
24 74100 +2 +5
25 74192 +2 +6
26 74L03 4 +2 +8
27 74105 4
28 74L.S109 J- K
29 74LS110 J- K
30 74LS112 J- K
31 74L.S125
32 7415138 3-8 /
33 7415139 2-4 /
34 74L.S151 8 1
35 74LS153 4
36 74LS154 4- 16 /
37 74LS157 2 1 /
38 7415160 4
39 7415161 4
40 7415164
41 7415165 8
42 74LS174
43 74LS175
a4 74LS176
45 7415181 /
46 74L.S190
47 7415191




N H R DET o
48 741992
49 74993
50 741994 4
51 74L995 4
52 7415198 8
53 741044 / /
54 741245
55 741048 BCD- /
56 741057 2 1
57 74L9273 D
58 749283 4
59 741290 22 =5
60 741323
6l LM324
62 555
63 2114 RAM
64 2716 2Kx8 EPROM
65 7800
66 7900
67 8051
3.
CW7805 | CW7815 | CW78LOS | CW78L15 | CW7915 | CW79L15
Uy/V 4.8~5.2 |14.4~15.6| 4.8~5.2 |14.4~15.6| - 14.4~ - 15.6
Ui/ V 35 35 30 35 - 35 _ 35
l o/ A 1.5 1.5 0.1 0.1 1.5 0.1
3 1 55 130 1 |200
AUy/mV
Ui Ui Ui= Ui= Ui= U=-17.5V~-30V
7V~25V [17.5V~30V| 7V-20V [17.5V~30 |
15 12 1 25 1 25
AU,/ mV
o l,=5mA~1.5A l,=1mA~100ma | o=°MA| To=1mA
~1.5A | ~100 mA
AU my | %06 +1.8 - 0.65 S1.3 1.0 - 0.9
o .=5mA 0 ~125
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